
of money they can turn to social security. 

 

in had the accident not happened, so far as 

are considered, including lost earnings and 

it is calculated to last according to the life 

other reasons. One is the discounts applied. 

than it would had the accident not happened. 

for lost earnings the person compensated will 

is calculated, and the fact that it ignores 

RUNNING OUT OF 
COMPENSATION MONEY: 
WHIPPING AWAY THE SOCIAL SECURITY BLANKET?1

BY PRUE VINES & MATTHEW BUTT
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CALCULATION 
OF THE LUMP SUM 
PRECLUSION PERIOD

actual amount claimed for lost earnings. 

income a single pensioner can earn in a week 

constant pain he can no longer work as an 
electrician or any kind of tradesman and has 
no other work skills. Because he is 48 it is 

think what to do so put most of it in a term 

 

Is it reasonable for the social security preclusion 
period to be calculated quite differently from the 

way the compensation was calculated? 
18



LAWYERS’ FEES

 

contradicts this approach; and the failure 

security rights.
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